OKR4

1 -

0$ NOMINAL +TOL -TOL ZAOBS ODCH OPOZATOL BONUS
# MM LOK1 - STOZ1

0s$ NOMINAL +TOL TOL ZAOBS ODCH OPOZATOL

Kat 7.945 0.200 0.200 7.814 0.131 0.000 \

Dt -1.800 0.050 0.050 -1.809 -0.009 0.000 \
# MM LOK2 - OKR3

0s$ NOMINAL +TOL TOL ZAOBS ODCH OPOZATOL

$ 2.050 0.050 0.050 2.046 -0.004 0.000 \
# MM LOK3 - OKR4

0s$ NOMINAL +TOL ToL ZAOBS ODCH OPOZATOL

z -1.800 0.100 0.100 -1.798 0.002 0.000 \

$ 1.800 0.050 0.050 1.800 0.000 0.000 \
# MM LOK4 - OKR5

0s$ NOMINAL +TOL TOL ZAOBS ODCH OPOZATOL

z -1.800 0.050 0.050 -1.800 0.000 0.000 \

$ 1.800 0.050 0.050 1.800 0.000 0.000 \
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